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àíZn{ÌH$m gmoS>{dÊ¶mnydu H¥$n¶m Imbrb gyMZm H$miOrnyd©H$ dmMm …

(1)	 ¶m àíZn{ÌHo$V XmoZ {d^mJ AmhoV. Ë¶mn¡H$s {d^mJ I ‘Ü¶o V¥Vr¶ ^mfm {df¶mgmR>r 1 Vo 25 d {d^mJ II ‘Ü¶o 
~w{Õ‘Îmm MmMUr {df¶mgmR>r 26 Vo 75 Ago EHy$U 75 àíZ AmhoV. gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

(2)	 àË¶oH$ àíZmgmR>r 2 JwU AmhoV.
(3)	 àíZn{ÌH$m gmoS>{dÊ¶mgmR>r EHy$U 90 {‘{ZQ>m§Mm H$mbmdYr {Xbm OmB©b.
(4)	 CÎmao Zm|X{dÊ¶mgmR>r ñdV§Ì CÎman{ÌH$m {Xbobr Amho. àË¶oH$ àíZH«$‘m§H$mg‘moa Mma n¶m©¶mgmR>r H«$‘mJV dVw©io 

{Xbobr AmhoV. Ë¶mVrb AMyH$ CÎmamMm n¶m©¶ H«$‘m§H$ Agbobo dVy©i nwT>rb CXmhaUmV XmI{dë¶mà‘mUo a§Jdm. 
CXm. àíZ H«$. 6 À¶m ~amo~a CÎmamMm n¶m©¶ H«$. 2 Agob, Va Vmo nwT>rbà‘mUo Zm|Xdmdm.

	 àíZ H«$. 6 	 1 1 3 4
(5)	 Imbrbà‘mUo Zm|X{dbobr CÎmao J«mø YaÊ¶mV ¶oUma ZmhrV. Ago CÎma Zm|X{dë¶mg Ë¶m àíZmg "eyÝ¶' JwU {Xbo 

OmVrb.   		 1 2 4  
(6)	 àË¶oH$ àíZmgmR>r EH$mnojm A{YH$ dVw©imV Zm|X{dbobr CËVao, ImS>mImoS> H$ê$Z Zm|X{dbobr CËVao J«mø YaÊ¶mV ¶oUma 

ZmhrV.
(7)	 EH$Xm Zm§oX{dbobr CÎmao nwÝhm ~XbVm ¶oUma ZmhrV.
(8)	 n¶m©¶mMr CÎmao Zm|X{dVmZm ’$³V H$mù¶m qH$dm {Zù¶m a§JmÀ¶m ~m°bnoZMmM dmna H$amdm. nopÝgbZo Zm§oX{dbobr CËVao 

J«mø YaÊ¶mV ¶oUma ZmhrV.
(9)	 àíZn{ÌHo$V àË¶oH$ nmZmda Imbr d eodQ>À¶m nmZmda H$ƒo H$m‘ H$aÊ¶mgmR>r ‘moH$ir OmJm Amho, VoWoM H$ƒo H$m‘ 

H$amdo.
(10)	 narjog ‘¶m©{XV doi Agë¶mZo EImXçm àíZmMo CËVa Vwåhmbm ¶oV Zgë¶mg nwT>rb àíZ gmoS>dm. eodQ>r doi {eëbH$ 

am{hë¶mg Caboë¶m àíZm§gmR>r nwÝhm à¶ËZ H$amdm.
(11)	 EImXçm àíZmV ÌwQ>r/MyH$ AmT>ië¶mg Ë¶m~m~V n¶©dojH$ qH$dm narjm H|$Ðg§MmbH$ ¶m§À¶mH$S>o {dMmaUm H$ê$ Z¶o.
(12)	 àíZmVrb ÌwQ>r/MyH$/Amjonm~m~VMo {ZdoXZ emioZo qH$dm nmbH$m§Zr JQ>{ejUm{YH$mar qH$dm {ejUm{YH$mar ¶m§À¶mH$S>o 

boIr ñdê$nmV Z nmR>dVm g§~§{YV emioÀ¶m bm°JrZ ‘YyZ Am°ZbmB©Z nÕVrZoM nmR>dmdo.
(13)	 ÌwQ>r/MyH$/Amjonm~m~VMo {ZdoXZ Am°ZbmB©Z nÕVrZo nmR>{dÊ¶mMr ‘wXV narjm n[afXoÀ¶m g§Ho$VñWimda A§V[a‘ 

(VmËnwaVr) CËVagyMr à{gX²Y Pmë¶mnmgyZ 10 (Xhm) {Xdgm§n¶ªV amhrb.
(14)	 ‘wÐUXmof qH$dm AÝ¶ H$maUm§‘wio àíZ MwH$sMm Agë¶mMo AmT>ië¶mg Vk g{‘VrÀ¶m A{^àm¶mZwgma ¶mo½¶ Vr 

H$m¶©dmhr Ho$br OmB©b.
(15)	 ‘yi ‘mÜ¶‘mgmo~V B§J«Or ^mfoVrb àíZn{ÌH$m {Xbobr Amho. ‘yi ‘mÜ¶‘mVrb g§{X½Y àíZm§~m~V B§J«Or àíZ nhmdoV.

nona H«$. - II

doi : 02:00 Vo 03:30	 ‘mÜ¶‘ … ‘amR>r	

EHy$U JwU : 150	 V¥Vr¶ ^mfm d ~w{Õ‘Îmm MmMUr	 n¥îR> : 32

~¡R>H$ H«$.

0 1 0 2

nyd© Cƒ àmW{‘H$ {eî¶d¥Îmr narjm (B¶Îmm 5 dr), ’o$~«wdmar 2023

g§M
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SPACE FOR ROUGH WORK

SECTION - I

ENGLISH
01. Select the correct option for the following sentence.

February follows _____ in the calendar year.
(1)	 March			   (2)	 December	
(3)	 April			   (4)	 January

02. How many mistakes of capitalization are there in the following sentence.
Raju : what ! a girl like smita, working in a shop.
(1)	 3			   (2)	 2	
(3)	 1			   (4)	 4

03. Choose the correct alternative.
My number is 20 in the row. So I am _____ in the row.
(1)	 twenty			   (2)	 twenteenth	
(3)	 twentieth	 	 	 (4)	 twenty-first

04. Select the correct alternative to complete the following sentence.
He blinks his _____.
(1)	 toes			   (2)	 ears	
(3)	 nose			   (4)	 eyes

05. Identify the shape given in the picture. Choose the correct option.

(1)	 Cone			   (2)	 Cube
(3)	 Sphere			   (4)	 Triangle
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06. Observe the picture and select the correct alternative.

There is a cow _____ the tree.

(1)	 above			   (2)	 over	

(3)	 under			   (4)	 into

07. Choose the incorrect pair from the given alternative.

(1)	 Will not - Won’t		  (2)	 Shall not - Shalln’t

(3)	 Let us - Let’s			   (4)	 Have not - Haven’t

08. Find the correct alternative for the following sentence.

They _____ garments in the _____.

(1)	 sell, sail			   (2)	 sale, sail	

(3)	 sell, sale			   (4)	 cell, sale

09. Select the correct option for the following sentence.

The sun is always in the _____ direction at 6 p.m.

(1)	 East			   (2)	 West	

(3)	 North			   (4)	 South
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Instructions for Question 10 to 12.

	 Read the passage carefully and answer the following question.

	�	  Mother Duck was really proud of her six new ducklings. They were soft, 
fluffy and yellow. Such fine little ducklings! But the seventh one was very 
different. It was bigger and its feathers were gray and shaggy.

10. How many ducklings are mentioned in the passage?

(1)	 6			   (2)	 8	

(3)	 5			   (4)	 7

11. Find the ordinal number mentioned in the passage?

(1)	 Six			   (2)	 Seventh	

(3)	 One			   (4)	 Shaggy

12. Find the opposite of the word ‘same’ from the passage.

(1)	 Fine			   (2)	 Shaggy	

(3)	 Different			   (4)	 Fluffy

13. Choose the correct alternative to complete the following word chain of 
alphabetical order.

Pan → Pen → – → Pull

(1)	 Part			   (2)	 Potter	

(3)	 Punish			   (4)	 Push
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14. Choose the correct alternative for the sentence given below.

Please give me _____ one rupee note.

(1)	 an			   (2)	 the	

(3)	 no article			   (4)	 a

15. Observe the picture and choose the correct option for it.

_____ the plants regularly.

(1)	 Plough			   (2)	 Prune	

(3)	 Weed			   (4)	 Water

16. Find the different sound of the letter ‘C’ from the following alternatives.

(1)	 Cart			   (2)	 Count	

(3)	 Centre			   (4)	 Card

17. Choose the correct alternative.

Yusuf is reading a newspaper. His brother wants to call him for the dinner. 
He requests _____

(1)	 Please keep reading.		 (2)	 Excuse me, brother.

(3)	 Good afternoon brother.	 (4)	 You are welcome!
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18. Find the correct word to complete the message given below.

_____ PLANTS NOT GARBAGE

S G Z T

E R O C

W O Y U

E W X T

(1)	 SEW			   (2)	 CUT

(3)	 GROW			   (4)	 ROOTS

19. Find the sentence with the incorrect punctuation mark.

(1)	 How are you!			   (2)	 How nice!

(3)	 What a surprise!		  (4)	 Are you crazy?

20. Select the proper option to complete the word register.

growl, cluck, buzz, squeal, _____.

(1)	 blow			   (2)	 share	

(3)	 croak	 	 	 (4)	 flow

21. Select the correct alternative.

He _____ a letter yesterday.

(1)	 writes			   (2)	 wrote	

(3)	 write			   (4)	 writing
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22. Ruby meets her friend at the lunch time. How will she greet him? Choose 
the correct option.
(1)	 Good evening.			   (2)	 Good night.
(3)	 Good morning.			  (4)	 Good afternoon.

23. Find the punctuation mark missing in the following sentence.
He said, “Its just a matter of practice!”
(1)	 Comma			   (2)	 Exclamation mark	
(3)	 Apostrophe			   (4)	 Full stop

24. Observe the picture and choose the correct alternative.

What is the girl doing?
(1)	 Sweeping			   (2)	 Cooking	
(3)	 Climbing			   (4)	 Singing

25. Read the riddle given below and choose the correct option.
You open your mouth to do it.
It shows you are sleepy. What is it?
(1)	 Cough			   (2)	 Yawn	
(3)	 Sneeze			   (4)	 Dream
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A B C D E F G H I J K L M N O P Q R S T U V W X Y

SECTION - II

INTELLIGENCE TEST
Q.26. to Q.30. Directions :
	 �In the given questions first term has a specific relation with the second term. 

The same relation exists between third and fourth term. Identify the relation 
and select the correct option to replace the question mark.

26. Karamveer : Bhaurao Patil   : :   ?   : Birasa Munda
(1)	 Lokmanya			   (2)	 Maharshi	
(3)	 Senanayak			   (4)	 Jananayak

27. Cow : Moo  : :  Monkey : ?
(1)	 Hoot			   (2)	 Hiss	
(3)	 Chatter			   (4)	 Scream

28. Question Figures :

 

:

   

: :

   

:  ?

Answer Figures :

	 (1)	 (2)	 (3)	 (4)
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

A B C D E F G H I J K L M N O P Q R S T U V W X Y

{d^mJ - II

~w{Õ‘Îmm MmMUr

àíZ H«$. 26 Vo 30 gmR>r gyMZm - 
	� Imbrb àíZm§V n{hë¶m d Xþgè¶m nXmMm Ogm g§~§Y Amho; AJXr VgmM g§~§Y {Vgè¶m 

d Mm¡Ï¶m nXmV Amho. Vmo g§~§Y emoYm d àíZ{MÝhmÀ¶m OmJr ¶oÊ¶mè¶m CËVamÀ¶m n¶m©¶ 
H«$‘m§H$mMo dVw©i a§Jdm.

26. H$‘©dra … ^mD$amd nmQ>rb …… ? … {~agm ‘w§S>m
(1)	 bmoH$‘mÝ¶			   (2)	 ‘hfu
(3)	 goZmZm¶H$			   (4)	 OZZm¶H$

27. Jm¶ … h§~aUo …… ‘mH$S> … ? 
(1)	 KwËH$ma			   (2)	 {MËH$ma
(3)	 ^w^w…H$ma			   (4)	 Ho$H$mad

28. àíZmH¥$Vr

 

:

   

: :

   

:  ?

CËVa AmH¥$Vr

	 (1)	 (2)	 (3)	 (4)
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29. 42 : 10  : :  93 : ?
(1)	 71			   (2)	 24	
(3)	 28			   (4)	 33

30. 8 : 64  : : 5 : ?
(1)	 61			   (2)	 26	
(3)	 48			   (4)	 125

Q.31. and Q.32. Direction :
	 �Select the figure which exactly matches with the question figure from the four 

alternative figures given below.

31. Question Figure :		  Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

32. Question Figure :		  Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

33. If Red, Yellow, Blue, Green and Pink coloured buntings are stuck in the same 
order repeatedly, then at which position will be the Yellow bunting get stuck?
(1)	 63			   (2)	 87
(3)	 39			   (4)	 78
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29. 42 : 10 :: 93 : ?

(1)	 71			   (2)	 24

(3)	 28			   (4)	 33

30. 8 : 64 :: 5 : ?

(1)	 61			   (2)	 26

(3)	 48			   (4)	 125

àíZ H«$. 31 d 32 gmR>r gyMZm -

	 Imbrb àíZmH¥$Vrer V§VmoV§V OwiUmar AmH¥$Vr n¶m©¶r CËVa AmH¥$Ë¶m§‘YyZ {ZdS>m.

31. àíZmH¥$Vr		  CËVa AmH¥$Vr

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

32. àíZmH¥$Vr		  CËVa AmH¥$Vr

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

33. bmb, {ndim, {Zim, {hadm d Jwbm~r ¶m a§Jm§À¶m nVmH$m ¶mM H«$‘mZo bmdë¶m AmhoV 
Va {ndi¶m a§JmMr nVmH$m nwT>rbn¡H$s H$moUË¶m H«$‘m§H$mda ¶oB©b?

(1)	 63			   (2)	 87

(3)	 39			   (4)	 78
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34. In a row Rajendra is standing in the middle of the row. His position is 23rd 
in the row. If in the same row Vishwas is standing at 25th position from left 
side then which of the following alternatives is his position from the right side 
in the row?
(1)	 21st			   (2)	 20th	
(3)	 22nd			   (4)	 45th

35. When Rajnandini was returning to home from school, Sun was setting towards 
her left side. In the same position she turned to her right side at the right 
angle. Then to which direction will her right hand point?
(1)	 North			   (2)	 South	
(3)	 East			   (4)	 West

36. If Sonal’s 3rd birthday was on 19th September 2004, which was Thursday, then 
on which day will her 12th birthday occur?
(1)	 Monday			   (2)	 Sunday	
(3)	 Saturday			   (4)	 Wednesday

37. In the year 2020, Republic Day was celebrated on Saturday, then in the same 
month which day will occur only four times?
(1)	 Wednesday			   (2)	 Friday	
(3)	 Thursday			   (4)	 Tuesday

38. Observe the given Venn diagram and 
choose the correct answer.
What is the sum of numbers which are 
only in one figure?
(1)	 18
(2)	 16
(3)	 11
(4)	 20
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A B C D E F G H I J K L M N O P Q R S T U V W X Y

34. EH$m am§JoV amO|Ð ‘Ü¶^mJr C^m AgyZ Ë¶mMm H«$‘m§H$ 23 dm Amho. ¶mM am§JoV S>mdrH$Sy>Z 
25 ì¶m H«$‘m§H$mda Cä¶m AgUmè¶m {dídmgMm am§JoV COdrH$Sy>Z H«$‘m§H$ {H$Vdm Agob?

(1)	 21 dm			   (2)	 20 dm

(3)	 22 dm			   (4)	 45 dm

35. emioVyZ Kar OmV AgVmZm amOZ§{XZrÀ¶m S>mdrH$S>o gy¶© ‘mdiV hmoVm. ¶m pñWVrV amOZ§{XZr 
H$mQ>H$moZmV EH$Xm COdrH$S>o dibr Va {VMm COdm hmV H$moUË¶m {Xeobm Agob?

(1)	 CËVa			   (2)	 X{jU

(3)	 nyd©			   (4)	 npíM‘

36. gmoZbMm 3 am dmT>{Xdg 19 gßQ>|~a 2004 amoOr Jwê$dmar hmoVm Va {VÀ¶m 12 ì¶m 
dmT>{Xder H$moUVm dma Agob?

(1)	 gmo‘dma			   (2)	 a{ddma

(3)	 e{Zdma			   (4)	 ~wYdma

37. 2020 Mm àOmgËVmH$ {XZ e{Zdmar gmOam H$aÊ¶mV Ambm hmoVm Va Ë¶m ‘{hÝ¶mV 
nwT>rbn¡H$s H$moUVm dma ’$³V MmaM doim ¶oB©b?

(1)	 ~wYdma			   (2)	 ewH«$dma

(3)	 Jwê$dma			   (4)	 ‘§Jidma

38. nwT>rb doZ AmH¥$VrMo {ZarjU H$ê$Z CËVa {ZdS>m.
’$³V EH$mM AmH¥$VrV AgUmè¶m A§H$m§Mr 
~oarO {H$Vr Amho?

(1)	 18

(2)	 16

(3)	 11

(4)	 20
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39. In the given square pattern select the correct option to replace the question mark.

2 36 4

5 76 ?

1 172 7

(1)	 6

(2)	 3

(3)	 9

(4)	 2

40. Observe the pattern in the following circles and find the correct answer to 
replace the question mark, from the given alternatives.

(1)	 11			   (2)	 13
(3)	 7			   (4)	 14

Q.41. to Q.45. Directions :
	� A set of terms is given at the beginning of the question. These terms have some 

common characteristic. Find out the term from the alternatives that matches the 
given set of terms.

41. Stable, Coop, Cowshed.
(1)	 Web	 	 	 (2)	 Beehive	
(3)	 Cage			   (4)	 Anthill

42. September, April, June
(1)	 January			   (2)	 December	
(3)	 March			   (4)	 November
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39. Imbrb Mm¡H$moZmV àíZ{MÝhmÀ¶m OmJr H$moUVr g§»¶m ¶oB©b?

2 36 4

5 76 ?

1 172 7

(1)	 6

(2)	 3

(3)	 9

(4)	 2

40. Imbrb dVw©im§Mo {ZarjU H$am d àíZ{MÝhm§À¶m {R>H$mUr H$moUVr g§»¶m ¶oB©b Vo n¶m©¶mVyZ 
{ZpíMV H$am.

(1)	 11			   (2)	 13
(3)	 7			   (4)	 14

àíZ H«$. 41 Vo 45 gmR>r gyMZm -

	� àíZmÀ¶m gwê$dmVrbm H$mhr nXo {Xbobr AmhoV. Ë¶m§Mm EH$m g‘mZ d¡{eîQ²>¶mZwgma EH$ JQ> 
V¶ma hmoVmo. ¶m JQ>mV ~gUmao nX {Xboë¶m n¶m©¶m§VyZ {ZdS>m.

41. V~obm, IwamS>o, JmoR>m

(1)	 Omio			   (2)	 nmoio

(3)	 nmJm			   (4)	 dmê$i

42. gßQ>|~a, E{àb, OyZ

(1)	 OmZodmar			   (2)	 {S>g|~a

(3)	 ‘mM©			   (4)	 Zmoìh|~a
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43. 4205, 6427, 8729
(1)	 5407			   (2)	 3217	
(3)	 3249			   (4)	 6245

44. (512, 64), (216, 36), (27, 9)
(1)	 (1, 1)			   (2)	 (16, 4)	
(3)	 (353, 49)			   (4)	 (225, 25)

45. Question Figures :

	 	
Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

46. In a certain code language ‘COT’ is written as 357, ‘TOP’ is written as 513, 
‘TAP’ is written as 431 then how to write ‘COAT’ in the same language. 
(Letters and numerals are not in order.)
(1)	 1743			   (2)	 7543
(3)	 1574			   (4)	 1375

47. In a certain code language 35 : 345, 48 : 4168 and 29 : 2499 then in the 
same code language 58 = ?
(1)	 538			   (2)	 5138	
(3)	 5258			   (4)	 598
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43. 4205, 6427, 8729
(1)	 5407			   (2)	 3217
(3)	 3249			   (4)	 6245

44. (512, 64), (216, 36), (27, 9)
(1)	 (1, 1)			   (2)	 (16, 4)
(3)	 (353, 49)			   (4)	 (225, 25)

45. àíZmH¥$Vr

	 	
CËVa AmH¥$Vr

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

46. EH$m gm§Ho${VH$ ^mfoV "XJS>' hm eãX "Xa’$JS>', Jwbm~ hm eãX "Jwa’w$bm~', Va {ndim 
hm eãX "{na{’$di>m' Agm {b{hVmV; Va Ë¶mM ^mfoV "ZyVZ' hm eãX H$gm {bhmb?
(1)	 Zya’$VZ			   (2)	 Zya’y$VZ
(3)	 Zya’y$ZV			   (4)	 ZyVa’y$Z

47. EH$m gm§Ho${VH$ ^mfoV 35 = 345, 48 = 4168 d 29 = 2499 Ago {b{hVmV, Va 
¶mM ^mfoV 58 = {H$Vr?
(1)	 538			   (2)	 5138
(3)	 5258			   (4)	 598
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Q.48. and Q.49. Direction :

Symbol        3                
Code 5      2      6 6      8      9 3      9      2

	� In the above frame the sequence of symbols and digits may not necessarily be 
the same. Observe the code in the above frame and answer the questions.

48. In the above code language which digits will represent the symbol    3 
(1)	 852			   (2)	 956	
(3)	 952			   (4)	 928

49.  +  ×  –  = ?

(1)	 			   (2)	 

(3)	 			   (4)	 

50. While climbing the ramp near the school gate your physically disabled friend 
slipped off. What will you do at this moment?
(1)	 I will inform the Head-master of my school immediately.
(2)	 I will ignore him and go into the class.
(3)	 I will laugh at him by seeing him in this embarrassing situation.
(4)	 I will support him and help him to go to the classroom.

51. You and your school friends go for a school picnic at Raigad fort. Which of 
the below mentioned student’s action is correct?
(1)	 Pranjal stands on the surrounding wall of the fort and clicks selfie.
(2)	 Suyash has thrown the empty water bottle on the fort.
(3)	 Manasi climbed up and came down the fort carefully.
(4)	 Ayub has beautifully written school’s name on the wall of the fort.
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àíZ H«$. 48 d 49 gmR>r gyMZm -

{MÝh        3                
gm§Ho${VH$ ê$n 5      2      6 6      8      9 3      9      2

	� darb gmaUrVrb {MÝho d A§H$ ¶m§Mm H«$‘ gmaImM Agob Ago Zmhr, ho bjmV KoD Z 
CËVao n¶m©¶mVyZ {ZdS>m.

48. �darb gm§Ho${VH$ ^mfoV  3     ¶m {MÝhm§gmR>r H$moUVo A§H$ ¶oVrb?

(1)	 852			   (2)	 956

(3)	 952			   (4)	 928

49.  +  ×  –  = {H$Vr ?

(1)	 			   (2)	 

(3)	 			   (4)	 

50. emioÀ¶m àdoeX²dmamOdi Vw‘Mm {Xì¶m§J {‘Ì a°ån ({Xì¶m§Jm§gmR>rMm MT>-CVmamMm añVm) 
MT>VmZm Kgê$Z Imbr nS>bm, Va Ë¶mbm nmhÿZ Vwåhr H$m¶ H$amb?

(1)	 YmdV OmD$Z ‘w»¶mÜ¶mnH$m§Zm gm§Jmb.

(2)	 Ë¶mÀ¶mH$S>o Xþb©j H$ê$Z dJm©V {ZKyZ Omb.

(3)	 {Xì¶m§J {‘ÌmMr ’${OVr Pmbr Ago g‘OyZ Iyn hgmb.

(4)	 {Xì¶m§J {‘Ìmbm AmYma XoD$Z Ë¶mbm dJ©Imobrn¶ªV KoD$Z Omb.

51. "am¶JS>' nmhÊ¶mgmR>r emioMr ghb Jobr AgVm nwT>rb {dX²¶mÏ¶mªn¡H$s H$moUmMr H¥$Vr 
Vwåhmbm ¶mo½¶ dmQ>Vo?

(1)	 JS>mdarb H$S>¶mOdi C^maboë¶m H$R>S>¶mda MTy>Z àm§Ob goë’$s (’$moQ>mo) H$mT>Vo.

(2)	 gw¶eZo nmÊ¶mMr [aH$m‘r ~mQ>br JS>mdaM ’o$Hy$Z {Xbr.

(3)	 ‘mZgr JS>mda gmdH$me MT>br d gmdH$me CVabr.

(4)	 A¶w~Zo JS>mÀ¶m q^Vrda gw§Xa AjamV emioMo Zmd {b{hbo.
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52. In the following sentence how many seven letter words are more or less than 
five letter words?

‘Shivaji Maharaj is a great Maratha King.’

(1)	 More by 1			   (2)	 Less by 1	

(3)	 More by 2			   (4)	 Less by 2

53. Prepare a meaningful word from the letters, ‘B, E, N, T, I, O, D, E’. Which 
letter will be at the third place from the right side of the meaningful word.

(1)	 B	 	 	 (2)	 I	

(3)	 O			   (4)	 E

54. In the given number series how many times is the sum of two adjacent digits 
is a ‘Prime Number’.

7, 8, 9, 2, 0, 1, 3, 5, 6, 8, 1, 1, 1, 2, 5

(1)	 9			   (2)	 8	

(3)	 7			   (4)	 10

55. A B C D E   F G H I J   K L M N O   P Q R S T   U V W X Y

In the given alphabetical series, which pair of letters from the following options 
is not at equal distance from the 14th letter from the right side in the alphabet 
series?

(1)	 G U			   (2)	 F R

(3)	 B V	 	 	 (4)	 I O
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52. e¡j{UH$ joÌmVrb AÊUm§À¶m CËVw§J H$m¶m©‘wio Ë¶m§Zm gd©OU "H$‘©dra' åhUyZ AmoiIVmV. 

darb dm³¶mV OmoS>mjar eãXm§Mr g§»¶m {H$Vr Amho?

(1)	 8			   (2)	 7	

(3)	 9			   (4)	 10

53. nwT>rb dm³¶mV "AmH$mamÝV' Ajam§Mr g§»¶m "AH$mamÝV' Ajam§À¶m g§»¶onojm {H$VrZo 
H$‘r AWdm OmñV Amho?  
"H$Mam Q>mH$Uma Zmhr añË¶mda, hm {Z¶‘ q~~dy ‘Zmda.'

(1)	 6 Zo OmñV			   (2)	 5 Zo H$‘r

(3)	 7 Zo OmñV			   (4)	 6 Zo H$‘r

54. nwT>rb g§»¶m‘mboV H«$‘mZo ¶oUmè¶m bJVÀ¶m XmoZ A§H$m§Mr ~oarO "‘yig§»¶m' ¶oVo Ago 
{H$Vr doim Pmbo Amho?

7, 8, 9, 2, 0, 1, 3, 5, 6, 8, 1, 1, 1, 2, 5

(1)	 9			   (2)	 8

(3)	 7			   (4)	 10

55. A B C D E   F G H I J   K L M N O   P Q R S T   U V W X Y

darb B§J«Or Aja‘mboV COdrH$Sy>Z 14 ì¶m H«$‘m§H$mÀ¶m AjamnmgyZ g‘mZ A§Vamda 
Zgbobr AjaOmoS>r AmoiIm.

(1)	 G U			   (2)	 F R
(3)	 B V	 	 	 (4)	 I O
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Q.56. to Q.60. Directions :

	 Select the odd term.

56. (1)	 Cow - Bull	 	 	 (2)	 Father - Mother

(3)	 Peacock - Hen		 	 (4)	 Groom - Bride

57.

	 	 	 	

	 (1)	 (2)	 (3)	 (4)

58.

	 	 	 	

	 (1)	 (2)	 (3)	 (4)

59. (1)	 5668			   (2)	 3932

(3)	 6978			   (4)	 6592

60. (1)	 644			   (2)	 944

(3)	 477			   (4)	 955
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àíZ H«$. 56 Vo 60 gmR>r gyMZm - 

	 JQ>mV Z ~gUmao nX AmoiIyZ Ë¶mÀ¶m n¶m©¶ H«$‘m§H$mMo dVw©i a§Jdm.

56. (1)	 C§Q> - gm§S>Ur			   (2)	 ~m~m - AmB©

(3)	 ‘moa - ‘moarU			   (4)	 da - dYy

57.

	 	 	 	

	 (1)	 (2)	 (3)	 (4)

58.

	 	 	 	

	 (1)	 (2)	 (3)	 (4)

59. (1)	 5668			   (2)	 3932

(3)	 6978			   (4)	 6592

60. (1)	 644			   (2)	 944

(3)	 477			   (4)	 955
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Q.61. and Q.62. Direction :
	� Consider the pattern in the given number series and select the correct option 

to replace the question mark.

61. 196, 144, 100, 64, ?
(1)	 49			   (2)	 16
(3)	 36			   (4)	 56

62. 7, 8, 11, 17, 27, 42, ?
(1)	 69			   (2)	 63
(3)	 59			   (4)	 62

63. Select the correct figure from the options to replace the question mark.
Question Figures :

	 	 	 	

?

Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)
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àíZ H«$. 61 d 62 gmR>r �gyMZm -
	� ‘m{bHo$Vrb g§»¶m§À¶m ‘m§S>UrVrb gyÌ bjmV KoD$Z àíZ{MÝhm§À¶m OmJr ¶oUmar g§»¶m 

n¶m©¶mVyZ {ZdS>m.

61. 196, 144, 100, 64, ?
(1)	 49			   (2)	 16
(3)	 36			   (4)	 56

62. 7, 8, 11, 17, 27, 42, ?
(1)	 69			   (2)	 63
(3)	 59			   (4)	 62

63. àíZ{MÝhm§À¶m OmJr H«$‘mZo ¶oUmar AmH¥$Vr H$moUVr?
àíZmH¥$Vr

	 	 	 	

?

CËVa AmH¥$Vr

	 	 	 	
	 (1)	 (2)	 (3)	 (4)
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64. In the given series of symbols select the correct group from the options to 
replace the question mark.

(1)	 		  (2)	

(3)	 			  (4)	

65. Select the wrong term in the given number series.
16, 22, 26, 39, 62, 74, 102
(1)	 74			   (2)	 62	
(3)	 39			   (4)	 26

66. Seven years ago sum of ages of Kavita, Manisha and Suvarna was 45 years, 
then what will be the sum of their ages 5 years hence?
(1)	 81			   (2)	 50	
(3)	 57			   (4)	 59

67. Pratik likes to play Kabaddi and Kho-Kho. Palak likes to play only Langadi. 
Vedant likes to play all sports. Pranjal likes to play Langadi and Chess and 
Roger likes to play all sports except Kabaddi, then from the options find who 
likes to play Kho-Kho?
(1)	 Pratik and Vedant		  (2)	 Pratik, Pranjal and Roger
(3)	 Vedant, Roger and Palak	 (4)	 Vedant, Pratik and Roger

68. If Honeybee is called Ant, Ant is called Cobra, Cobra is called Sparrow and 
Sparrow is called Hen, then who will live in the anthill?
(1)	 Cobra			   (2)	 Ant	
(3)	 Hen			   (4)	 Honeybee
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64. Imbrb {MÝhm§À¶m ‘m{bHo$V àíZ{MÝhm§À¶m OmJr ¶oUmè¶m {MÝhm§Mm JQ> {ZdS>m.

(1)	 		  (2)	

(3)	 			  (4)	

65. Imbrb g§»¶m‘m{bHo$Vrb MwH$sMo nX AmoiIm.

16, 22, 26, 39, 62, 74, 102

(1)	 74			   (2)	 62

(3)	 39			   (4)	 26

66. 7 dfmªnydu H${dVm, ‘{Zfm d gwdUm© ¶m§À¶m d¶m§Mr ~oarO 45 df© hmoVr; Va 5 dfmªZ§Va 
Ë¶m§À¶m d¶m§Mr ~oarO {H$Vr df© Agob?

(1)	 81			   (2)	 50

(3)	 57			   (4)	 59

67. à{VH$bm H$~S²>S>r d Imo-Imo Ioi AmdS>VmV, nbH$bm ’$³V b§JS>r hm Ioi AmdS>Vmo. 
doXm§Vbm gd© Ioi AmdS>VmV. àm§Obbm b§JS>r d ~wX²{Y~i ho Ioi AmdS>VmV d am°Oabm 
H$~S²>S>r gmoSy>Z gd© Ioi AmdS>VmV. Va Imo-Imo Ioi AmdS>Umao nwT>rbn¡H$s H$moU Vo 
{ZdS>m?

(1)	 à{VH$ d doXm§V			   (2)	 à{VH$, àm§Ob d am°Oa

(3)	 doXm§V, am°Oa d nbH$		  (4)	 doXm§V, à{VH$ d am°Oa

68. ‘Y‘merbm ‘w§Jr åhQ>bo, ‘w§Jrbm ZmJ åhQ>bo, ZmJmbm {M‘Ur åhQ>bo d {M‘Urbm H$m|~S>r 
åhQ>bo; Va dmê$imV H$moU amhrb?

(1)	 ZmJ			   (2)	 ‘w§Jr

(3)	 H$m|~S>r			   (4)	 ‘Y‘mer
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69. In the adjacent figure, how many squares are there? 
(1)	 225
(2)	 55
(3)	 25
(4)	 75

70. In the adjacent figure, how many quadrilaterals 
are there? 
(1)	 10
(2)	 14
(3)	 12
(4)	 8

71. How many surfaces does the 
given figure have?

(1)	 66

(2)	 22

(3)	 17

(4)	 16

72. Which group of digits will look as it is in the mirror image. Select the correct 
alternative from the following alternatives.

	 	 	 	
	 (1)	 (2)	 (3)	 (4)
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69. gmo~VÀ¶m AmH¥$VrV Mm¡agm§Mr g§»¶m {H$Vr Amho?

(1)	 225

(2)	 55

(3)	 25

(4)	 75

70. gmo~VÀ¶m AmH¥$VrV Mm¡H$moZm§Mr g§»¶m {H$Vr Amho?

(1)	 10
(2)	 14
(3)	 12
(4)	 8

71. nwT>rb AmH¥$Vrbm EHy$U 
n¥îR>o {H$Vr AmhoV?

(1)	 66

(2)	 22

(3)	 17

(4)	 16

72. nwT>rbn¡H$s H$moUË¶m n¶m©¶mVrb A§H$m§Mm JQ> AmaemVrb à{V‘oV VgmM {Xgob?

	 	 	 	
	 (1)	 (2)	 (3)	 (4)
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73. Identify the mirror image of the question figure and select the correct alternative.
Question Figure :		  Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

Q.74. and Q.75. Direction :
	 �Select the correct figure that is water image of the question figure from the 

alternatives.

74. Question Figure :		  Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

75. Question Figure :		  Answer Figures :

	 	 	 	
	 (1)	 (2)	 (3)	 (4)
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73. �Imbrb àíZmH¥$VrMr AmaemVrb à{V‘m H$er {Xgob Vo n¶m©¶r CËVa AmH¥$Ë¶m§‘YyZ {ZpíMV 
H$am d Ë¶mMo dVw©i a§Jdm.

àíZmH¥$Vr		  CËVa AmH¥$Ë¶m

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

àíZ H«$. 74 d 75 gmR>r gyMZm -

	� Imbrb àíZmH¥$VrMo nmÊ¶mVrb à{Vq~~ H$go {Xgob Vo n¶m©¶r CËVa AmH¥$Ë¶m§‘YyZ {ZpíMV 
H$am d Ë¶mMo dVw©i a§Jdm.

74. àíZmH¥$Vr		  CËVa AmH¥$Ë¶m

	 	 	 	
	 (1)	 (2)	 (3)	 (4)

75. àíZmH¥$Vr		  CËVa AmH¥$Ë¶m

	 	 	 	
	 (1)	 (2)	 (3)	 (4)
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